SM2—8.2 odd answers

1.B

3. C

5. circle B is the only thing not shaded
7

9

. only the middle of the 2 circles where they overlap is shaded
. both circles are not shaded

11. It looks the opposite of #8. Everything is shaded except the “pacman” part of circle A

13a. {pen, pencil, safety pin, scissors, staples}

13b. {elastic band, safety pin, tape, magnet, staples}

13c. {pen, pencil, safety pin, scissors, staples, elastic band, tape, magnet}
13d. {safety pin, staples}

Elastic
band
Tape
Magnet

13e.
Pen ' Safety
Pencil pin
Scissors Staples
Kleenex battery calculator
15a.
15b. 44
15c. 11
15d. 69
15e. 18

18




